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import numpy as np

import pandas as pd

import matplotlib.pyplot as plt

from scipy import stats RIS A4 IS5 EER

HIRE 5.2

# izE 5.2
X=stats.norm(-1,2) # BEDESE N(-1,272) L/ A—F2DFEINANELD

# 2w FOO=PX<=x) & X.cdf(x) TKRHD
# P(X <229
X.cdf (2. 29)

0. 9500150944608786

#P(X >0=0.01 # x [TE@ 1% m&W52 &
X. isf(0.01) P BREERIMRICEDAELIY. THOoMNKYIEHE

3.6526957480816815

flg 5.3

# fFIRE 5.3
X=stats.norm(156,5) # EE®DIEES N(165572) E/NXTA—ADEWNANELD

# P(153 < X < 160)
X. cdf (160) -X. cdf (153)

0.5138914836665298

t BEBRHOISD

fig = plt. figure(figsize=(5,4))

x=np. arange (140, 180,0. 1) # x DHEHBEDIEE. 1A=, ¥ H. ZlAH1E
plt.plot(x, X. pdf (x), color="red")

[<Kmatplotlib. lines.Line2D at 0x27ef32b42b0>]
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